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Note: You have four choices for each objective type question as A, B, C and D. The choice

which you think is correct; fill that circle in front of that question number. Use marker or pen to
fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

The unit of amplitude is: _.‘Lu.‘a:xgjjf(_k:i' 5|
Hertz jﬂ (b) Meter/‘f

Second AL (d) Newton ¢/ ¥

T o bevesn vl reauenoond g By ) St
vf = A (b) e

v=A/f (d) v=A/f

An example of a longitudinal wave is _%J@szjjj}f:f) 3

(b)
(d)

Sound waveys £il- Light wave #3241

Radio wave ¥s4/% Water wave #3713

Snell’s law is written as: _.‘:.b‘l?w‘-'/@)’u'iufﬁ'fﬁ 4
Sin i (b) Sinr
5 =N : 5 =n
Sinr Sin i
¢ b v
—=n —=n
v o
Unit of power of lens is: _‘L&z%’gd}g 5
Hertz 7 4 (b) Newton/
Meter ~ (d) Diopter &1 (15
Electric field lines ]",UIE"J}Q! 6
Always cross each-other (b)  Never cross each-other /U »# ' rn{]
‘.{_Gﬁ/ﬁx’ft_/u.{l_ﬁﬁ
Cross each other in the region of strong (d) Cross each other in the region of weak field
field Lad /st S po Lot i ted iy mls S AL wd i
1/:-‘:gmtfelcz?fcltnc current in the conductors is due to -Lﬂ?’Jﬁ{‘f‘C'—":/J/y?'u:/U/j{ 3

(b) sats L

Positive ions Ti;j{{ Negative ions 7 T +%
(d)

s b w4
¥ Free electrons y:/‘?um

The direction of induced e.m.f in a circuit is in Jn&flbfl-uiﬁ'Lw”w)”/ui—*//cfd’uéfrfidlifzkl 8

accordance with law of conservation of

Positive charges 7 /5.y

-
¢

Mass_/ b (b) Chargel.k

" d ‘
Momentum (5 #* (a) Energy 5./



The particles emitted from a hot cathode

surface are called:
- A
Positive lons ¢/ 22JL

Protons C);J{.
AND gate can be formed by using two

NOT gatsu{f..‘.fl.'

NOR gates szL’

The brain of any computer system is:
Monitor ;:‘.r‘

cPusdy
During the fission of 1lkg of uranium 235
energy is released

3.6x10")
6.7x10")

w3 S
(b) Negative ions;;ff}:‘@

(d) Electrons c,l:/’-..al
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(b) OR gates u”-le’
3 NAND gates Jgﬁv:

_‘Lab(f}"//*{'affu’( B

(b)
(d)

Memory ($/+5
Control unit ..:.f';jJ:/'"/
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../‘_'-Jlﬁ«‘
(b)  3.6x10%
(d) 3.6x10")
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Part 1

Q.No.2 Answer any Five parts from the following:
5x2=10

(1) Define longitudinal waves?
(i1) What is meant by electromagnetic waves?
(1i1)  What is meant by wave length?

(iv)  Write the two factors on which safe level of
noise depends?
(v) Write two uses of ultrasound?

(vi)  What is the difference between regular and
irregular reflection?
(vii)  State laws of refraction?

(viii) Define power of a lens?

Q.No.3 Answer any Five parts from the following:
5x2=10

(i) Define electrostatic induction?

(ii) State Coulomb’s law?

(ili)  Is electric intensity a vector quantity what
will be its direction?
(iv)  Define conventional current?

(v) State Ohm’s law?
(vi)  What is the difference between D.C and A.C?
(vii)  What is Fleming’s left hand Rule?

(viii) What is the difference between a generator
and a motor?

Q.No.4 Answer any Five parts from the following:
5x2=10
(i) Define thermionic emission?

(i1) Write two uses of oscilloscope?

(iii)  NAND gate is the reciprocal of AND gate
discuss?
(iv)  What is meant by software?

(v) Define internet?

(vi)  What is the difference between data and
information?
(vii)  Define isotopes?

(viii) What is difference between atomic number
& atomic mass number?
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Part I F”

s
Attempt any two questions. A . N j.,_,'“ RL s livis ‘_J S oad
Q.No.5(a)  Define simple harmonic motion? Explain with an example.
(5) S e Uie Je Ly St PSS Lr a5
(b) A convex lens of focal length 6ecm is to be used to farm a virtual image three times the size of

the object. Where must the lens be placed.
(4) b T A b BIS g nSerlaVif e etz § e K EF6 SIS AAT L ()

Q.No.6(a)  Define transformer. Explain the working of transformer?

(5) e b S E ey F S 0 D6
(b) A capacitor holds 0.03 coulombs of charge when fully charged by a 6 volt battery. How much

voltage would be required for it to hold 2 coulombs of charge?
JB/JJ@UMg#/i_)/u:‘fwk__—))é{,}?{:‘c.t‘L?ﬂJ::”G/'_‘lv?O.O:’)C,;JI;'.?_lg_b’/@lg/,:J:b(_};/rjﬁc.d}:.‘d%v__e/ﬁ{ [ (-.-«)
Ly

(4)
Q.No.7(a)  What is meant by OR gate? Write its symbol and truth table.

(5) _“ﬁgdf-"j,;mymb(w_f_»/g‘-_q‘}f N7
(b) Carbon 14 has a half life of 5730 years. How long will it take for the quantity of carbon 14 in a

sample to drop to one eighth of the initial quantity.

4) K=l Lé..lgnﬁ’..f% §1.50 31 514K 57305 03140 ()



(A’!L52015-17L'}§rd:-l;l) (Il-dﬂ)&dﬁd/ﬁg)
Physics(Practical) (J” )u’?’@dﬂ

Time Allowed: 2 9.
Hours
Maximum Marks: 30 30:/',“")/

12 AR F

1- Measure the diameter of a wire by using a screw gauge.
OR
L

S A s FHEE A e L

Find the density of a body heavier than water by Archimedes Principle.

12 -iﬂ&/gu.fl};':u:gﬂjc_.ﬁxd/%l"gﬂf -2
2- Study the laws of refraction by using a glass slab.
OR

b
TS Ca O,

Study the characteristics of P-N junction.

3- Note Book. 3 ok idey =3
4- Viva 3 = U3l -4

Voce.



